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Name ______________________________

Note:  You should write down all equations needed to answer a question and fill in as many numbers as possible.
Short answer questions/problems

Notes:  
1)  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

2)  In answering the short-answer questions, you may need to use the attached financial statements and the additional information following PE4. 
1.  Assume that the firm you have recently founded to sell a gizmo you have invented is considering whether or not to sell through Walgreen.  Walgreen has told you that it will order from you if you allow it 60 days to pay after it purchases inventory from you.  Which ratios would be most useful if you are trying to decide whether or not Walgreen would be able to repay you?  (Note:  do not do any calculations, simply state in words which ratios you would calculate).  
For questions 2 and 3 assume you want to calculate EVA using the Harnishfeger approach for the fiscal year ended August 31, 2004.

2.  Inventory
3.  Operating profit
4.  Assume that two firms have virtually identical financial statements.  Assume also that firm A is far riskier than firm B in that its stock is more volatile and the risk of default on the firm’s debt is much higher.  Which firm would you expect to have a higher cost of capital and why?

5.  Which firm from the previous question (A or B) would likely have a higher EVA and why?

6.  You taken out a loan but must now choose between two repayment options.  The traditional loan will require 60 equal monthly payments of $525 each beginning a month from today.  The other option (called the wait and grow option) involves no payments until 3 months from today, a final payment 60 months from today, and payments that grow by 1% each.  What sequence of calculations would allow you to determine the difference between your initial monthly payment under the “wait and grow” option and your monthly payments of $525 each under the traditional option?  Note:  you do not have to list any equations or plug in any numbers, just list the steps.  

7.  Your bank currently offers a rate on deposits of 3.6% per year compounded monthly.  What rate per year compounded quarterly would be equivalent to this rate?
Use the following information to answer questions 8 and 9.  Answer questions 8 and 9 on the same graph but be sure to clearly label the part of the graph that answers each question.  

In August, you are at a family reunion and your Uncle Fred is talking about how he is afraid of taking much risk with his retirement portfolio now that he has retired.  He has invested in a bunch of low risk stocks that that pay relatively stable dividends.  Your Uncle Joe, on the other hand, is talking about how he has 40 years before he retires and that as a result he is investing in a lot of high risk stocks like biotech and computer firms.  Assume that each can borrow or lend at the risk-free rate of interest.  Assume also that you estimate (somewhat to your surprise) that that both of your uncle’s portfolios are on the efficient set.

8.  Sketch a reasonable efficient set and then show a reasonable location for each of your uncle’s portfolios on this efficient set.  

9.  Show and briefly discuss how each could be unambiguously better off by changing the way that they invest.

10.  The minimum value of any option is the maximum of 0 or the exercise value (or net cash flow when exercise).  Create an example where the exercise value of a put is the greater than 0 and then explain why the put can never have a value less than the exercise value.
Problems/Essays

1.  Nine months from today, you plan to make the first of a series of semiannual deposits into an account that pays a rate of 5.4% per year compounded continuously.  You plan for your first deposit to equal $1000 and plan to increase your deposits by 3% each until you make your final deposit five years and nine months from today.  What single deposit four years and one month from today would allow you to end up with the same amount of money in your account five years and nine months from today?

2.  You have invested $5000 in Mattel and $15,000 in Texas Instruments (TI).  You estimate that the return on each stock will depend on the economy as follows:



Return on:

Economic Conditions
Probability
Mattel
TI
Strong Growth
.25
-2
38
Some Growth
.50
8
12
No Growth
.15
-10
-20
Economy Shrinks
.10
12
-25
a.  What is the standard deviation of returns on Mattel and TI?
b.  What is the correlation between the returns on Mattel and TI?

c.  What is the standard deviation of returns on your portfolio?

d.  If you sell 60% of your Mattel stock and 60% of your TI stock and put the proceeds in T-bills, what is the overall standard deviation on your investment?

3.  On Tuesday, June 14th, the rates on U.S. Treasury strips varied by maturity as follows:
2006 = 3.40; 2007 = 3.66; 2008 = 3.72; 2009 = 3.82; 2010 = 3.75

a.  If you buy the bond maturing in 2009, what rate are you earning in the 3rd and 4th years of the bond’s life?

b.  If the liquidity preference theory is correct, what can we conclude about rates we can expect to earn if we buy a 1-year bond 2 years from today and if we buy a 1-year bond 3 years from today?
c.  What are the assumption made in the liquidity preference theory and how does this lead to long-term bonds earning a premium?
4.  You are considering selling puts on JPMorganChase stock because you think that JPMorgan’s stock price will rise from its current $35.71 per share to $42.00 per share by July 1 (14 days from now) because of its recent announcement of plans to settle Enron related lawsuits.  Specifically, you plan to sell 3  puts on JPMorganChase that expire on July 15, 2005 (28 days from today) with an exercise price of $35.  Since you expect JPMorgan’s price will actually fall slightly from $42 per share on July 1 to $41 per share on July 15, you plan to close out your option position on July 1 by buying 3 puts that are identical to the ones you have sold.  You estimate that the standard deviation of returns on JPMorganChase stock will be 54% between now and when you plan to close out your position on July 1 but only 44% between now and July 15.  Similarly, you estimate that the standard deviation of returns on your put will be 62% between now and July 1 but only 53% between now and July 15.  Finally, you estimate that the standard deviation of returns on an identical call (to the put you are selling) will have a standard deviation of returns of 65% between now and July 1 but only 56% between now and July 15.  The return on Tbills (all APRs assuming continuous compounding) depends on the maturity of the T-bill as follows:  June 23 = 2.80; June 30 = 2.76; July 7 = 2.77%, July 14 = 2.78%; July 21 = 2.79%.  What is the value of the 3 puts?

Additional Information from Walgreen’s Financial Statements
1.  The company does not engage in any material research activities.
2.  Income taxes paid were $734.1 million, $625.2 million and $528.0 million during the fiscal years ended August 31, 2004, 2003 and 2002, respectively.
3.  Inventories are valued on a lower of last-in, first-out (LIFO) cost or market basis. At August 31, 2004 and 2003, inventories would have been greater by $736.4 million and $729.7 million, respectively, if they had been valued on a lower of first-in, first-out (FIFO) cost or market basis. Included in inventory are product cost and inbound freight. Cost of sales is primarily derived based upon point-of-sale scanning information with an estimate for shrinkage and adjusted based on periodic inventories.

Consolidated Statements of Earnings

	 

Consolidated Statements of Earnings
Walgreen Co. and Subsidiaries

For the Years Ended August 31, 2004, 2003 and 2002

(Dollars in Millions, except per share data)



	Earnings
	2004
	2003
	2002

	Net Sales
	$37,508.2
	$32,505.4
	$28,681.1

	Costs and Deductions
	 
	 
	 

	Cost of sales
	27,310.4
	23,706.2
	21,076.1

	Selling, occupancy and administration
	8,055.1
	6,950.9
	5,980.8

	 
	35,365.5
	30,657.1
	27,056.9

	Other Income
	 
	 
	 

	Interest income
	17.3
	10.8
	6.9

	Other income
	16.3
	29.6
	6.2

	 
	33.6
	40.4
	13.1

	Earnings
	 
	 
	 

	Earnings before income tax provision
	2,176.3
	1,888.7
	1,637.3

	Income tax provision
	816.1
	713.0
	618.1

	Net Earnings
	$ 1,360.2
	$ 1,175.7
	$ 1,019.2

	Net Earnings per Common Share
	 
	 
	 

	Basic
	$ 1.33
	$ 1.15
	$ 1.00

	Diluted
	1.32
	1.14
	.99

	Average shares outstanding
	1,024,512,865
	1,024,908,276
	1,022,554,460

	Dilutive effect of stock options
	7,285,553
	6,672,051
	9,716,486

	Average shares outstanding assuming dilution
	1,031,798,418
	1,031,580,327
	1,032,270,946


Consolidated Balance Sheets
	Consolidated Balance Sheets

Walgreen Co. and Subsidiaries

At August 31, 2004 and 2003

(Dollars in Millions)

	Assets
	2004
	2003

	Current Assets
	 
	 

	 
	Cash and cash equivalents
	$ 1,695.5
	$ 1,268.0

	 
	Accounts receivable, net
	1,169.1
	1,017.8

	 
	Inventories
	4,738.6
	4,202.7

	 
	Other current assets
	161.2
	 120.5

	 
	Total Current Assets
	7,764.4
	6,609.0

	Non-Current Assets
	 
	 

	 
	Property and equipment, at cost, less accumulated depreciation and amortization
	5,446.4
	4,940.0

	 
	Other non-current assets
	131.3
	107.8

	Total Assets
	$13,342.1
	$11,656.8

	 
	 
	 
	 

	Liabilities and Shareholders' Equity
	 
	 

	Current Liabilities
	 
	 

	 
	Trade accounts payable
	$ 2,641.5
	 $ 2,407.8

	 
	Accrued expenses and other liabilities
	1,370.5
	1,157.8

	 
	Income taxes
	65.9
	105.8

	 
	Total Current Liabilities
	4,077.9
	3,671.4

	Non-Current Liabilities
	 
	 

	 
	Deferred income taxes
	327.6
	228.0

	 
	Other non-current liabilities
	708.6
	561.7

	 
	Total Non-Current Liabilities
	1,036.2
	789.7

	Shareholders' Equity
	 
	 

	 
	Preferred stock, $.0625 par value; authorized 32 million shares; none issued
	-
	-

	 
	Common stock, $.078125 par value; authorized 3.2 billion shares; issued 1,025,400,000 in 2004 and 1,024,908,276 in 2003
	80.1
	80.1

	 
	Paid-in capital
	632.6
	697.8

	 
	Retained earnings
	7,591.6
	6,417.8

	 
	Treasury stock at cost, 2,107,263 shares in 2004
	(76.3)
	-

	 
	Total Shareholders' Equity
	8,228.0
	7,195.7

	Total Liabilities and Shareholders' Equity
	$13,342.1
	$11,656.8
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